
Physics answer key for JEST-2014 

 
Question no.  

X series Y series Z series 

1 b b a 

2 b a c 

3 a c c 

4 d * * 

5 c c b 

6 b c c 

7 * d d 

8 c a & c  # d 

9 a a c 

10 d b b 

11 a c a 

12 c a b 

13 b b b 

14 c d a 

15 a b d 

16 d b b 

17 b a c 

18 a a b 

19 c b c 

20 a & c  # c a 

21 a b a 

22 b c c 

23 c a b 

24 b c a 

25 c d a & c  # 

26 c b d 

27 b a a 

28 d a c 

29 a a a 

30 a d c 

31 a d b 

32 a c a 

33 b d b 

34 c b c 

35 c b a 

36 d c b 

37 d c a 

38 b d a 

39 b b d 

40 c a a 

41 c b c 

42 a c d 

43 b a b 

44 b d d 

45 c a d 

46 a c b 

47 d a c 

48 d c c 

49 a b b 

50 d d d 

 

* Due to typographical error the correct option for this question is not present in the list of options. So all the candidates who appeared for 

JEST-2014 will be awarded full marks for this question. 

# Candidates who have marked either of the correct options (a or c ) will be awarded full marks for this question. 


